[(HI#K 3] TKEEREZHE L1=15

SEDEREIZDINT

TKERER (12 AD)
sk | me | 2EOER| sxe m | 2EIEE
;mziﬁz 198 2559
gggziﬁz 220 2843
gggziﬁz 2486 3212
— g5k g%g 1,595 2,061 ?86“;?5? 2728 352.5
;88222%1 279.4 361.0
gggmzigz 288.2 372.4
500m3#2 3036 3923

B TKEERAHMELTROMELRE (FE2EMABERAALZELT)

(BIAE 1] DOREEET TR, B 7 FEOERK RAZEA684506FFHD =,
BE L=BE0FEEARNRAZEEE84506FH (2EMAE) LY FET,

- £o T, EAMHERIL884,506FF,684506FFH=1.29L7%05 =8,

_hzx

EROEXRHE, BEHEITTNETNARELESBEARELEGAOEELERY

ES S

[(F1] 1 5 ADBEKEN20ME > =15

7]

(10m~20m)

(10m~20m)

& (ERAMEIRIE2 HFA)

1 (10M=%ET) %ZFH%1 596 X 2 1 H=3,190F3"-
10mMx 198.0M % 2 # B=3,9601-
D+@=7,150MH4-
2 @M% (10MET) EARBE2061AX 2 HF=41221-
10mMx 28430 % 2 7 B=56861-
@®+®=9,808MH"

@@@@@@

- 27 RI2T A0 EFIRITEY2,658AELNS=H (B®—Q) |
FRIT2658MX 6EI=15948MMDELIFEL LY £9,




